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QUESTION 1

Which of the following is true about Application Owners? 

A. They can delete a Solution 

B. They can add new user accounts to the platform 

C. They can see all records in all applications across the systems 

D. They can see all records within their assigned applications 

Correct Answer: D 

 

QUESTION 2

A Business Owner that needs visibility into changes made to Archer records on a daily basis would best be served by: 

A. a Subscription Notification sent as a monthly digest 

B. a Subscription Notification sent as a daily digest 

C. a Manual process where a user runs a report every 30 days and attaches it to an email 

D. a Subscription Notification sent instantly as records are changed 

Correct Answer: B 

 

QUESTION 3

If a group is associated with an access role and the group contains sub-groups, how will the associated access role
affect the sub-groups 

A. The sub-groups will be associated with the access role 

B. The sub-groups will not be associated with the access role 

C. The sub-groups will be inactivated 

D. The sub-groups will be removed from the group 

Correct Answer: B 

 

QUESTION 4

Why might creating role-based groups positively impact the end user experience when working with user/ groups lists? 

A. It increases the complexity of key tasks 
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B. It eliminates the need to select relevant users individually 

C. It eliminates the ability to synchronize with your LDAP server 

D. It simplifies access control by enforcing the one-role, one-group rule 

Correct Answer: D 

 

QUESTION 5

Which of the following options will allow a field to the displayed in search results, but not be selected by default? 

A. Unique 

B. Search Default Field 

C. Auditing Information 

D. Search Results 

Correct Answer: D 
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